SPARE PARTS LIST

MODEL NO. JN1600

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 911161-0 Trapézfeju csavar M4x35 911161 4
002 157474-7 GEAR HOUSING 1
003  253139-0 Tavtart6 Alatét 8 253139-0 1
004  331153-7 Hajtérad JN1600 1
005 212151-9 Tugdrgos csapagy 1412 212151-9 1
006 321317-1 Forgattyus tengely JN1600 1
007 221873-0 Homlokfogaskerék 44 JN1600 1
008 253215-0 Lapos Alatét 8 253215-0 1
009 156728-9 Fogaskerékhaz-fedél IN1600 1
INC. 18
010 211033-2 Goly6scsapagy 608LB 211033-2 1
011 241081-7 FAN 58 1
012 511818-9 Forgorész 220V DA3000/V, JN160 1 220V
INC. 10,11,13,14
013 681614-0 Szigetelo alatét 681614-0 1
014 211028-5 Golybscsapagy 627LB 211028-5 1
015 527066-0 Allorész 220V IJN1600/JS1600, U 1 220V
016 263002-9 Gumi csapszeg 4 263002-9 1
017 266147-2 Onmetszo csavar M4x55 2
018 263002-9 Gumi csapszeg 4 263002-9 1
019 226054-1 Fogaskerék, komplett 23-37 JN1 1
020 253308-3 Alatét 6 4300SB/5014NB/9741/ 1
021  254002-0 Ek 3 92400B/9030/9503BH/HR3 1
022  251995-2 Imbuszcsavar M6x10 251995-2 J* 1
023 256111-1 Csapszeg 6 HM1200/JN1600 1
024 321318-9 Nyomofej-tarté IN1600 1
025 792265-5 PUNCH 1
026  321319-7 Nyomofej-tartocsavar IN1600 1
027  792264-7 DIE 1
028 911158-9 Trapézfeju csavar M4x30 911158 2
029 411981-7 Kapcsoléfedél IN1600 1
030 911133-5 Trapézfeju csavar M4x18 911133 2
031 687031-2 Kéabel-fesziiltségmentesito 1
032 643550-8 Szénkefetartd-sapka 5-8 CB-50/ 2
033 191628-6 Szénkefe CB-65 (=CB-72) 1
034 651821-9 Kapcsold 1
035 953106-2 Csapszegecs 0-5 953106-2 2
036 815664-5 NAME PLATE JN1600 1
037 157720-8 Motorhaz DA3000/IJN1600/JS1 1
038 682521-0 CORD GUARD 10 1
039 645105-5 Zajszuro kondenzator 645105-5* 1
040 665852-2 POWER SUPPLY CORD 1.0-2-2.0 1
041 232062-2 Laprugé DA3000//JN1600/JS160 1
042 961017-7 Zarogyuru E-3 961017-7 1
043 341858-1 SWITCH LEVER 1
044  256626-8 Csapszeg 4 DA3000R 1
045 411784-9 Kapcsol6-retesz DA3000 1
400 410048-8 Csavarkulcs-tarté 410048-8 1
401 783201-2 HEX. WRENCH 3 1
900 231322-9 Nyomo6rugé 3 DA3000R/5600RDW 1
1

901

341930-9

LOCK LEVER




SERVICE DRAWING

PAGE 1

MODEL NO. JN1600




